

# ADJOINT VARIABLES FOR HIGHER-ORDER EQUATIONS IN KINEMATICAL FORM

MIRCEA CRĂȘMĂREANU

Studii și Cercetări Știint. Univ. Bacău, Ser. Matem., 10(2000),  
113-120. MR **2003g**:34010

## Abstract

We obtain a type of first integrals for ODE in kinematical form by using a generalization of the method of adjoint variables to higher-order systems. A generalization of harmonic oscillator and classical spinning particle is completely discussed in order to solve the associated inverse problem.

**Subject Classification 2000:** 34A34, 34A30, 70H50.

**Key words and phrases:** first integral, adjoint system, system in kinematical form, harmonic oscillator, spinning particle.

## Introduction

Until now, the method of *adjoint(or added) variables* was used only for systems of differential equations which involve the derivatives of first and second order. So, for second order ODE see [5], [6] and for second order PDE see [1], [2]. For other informations about this approach see [10, chapter 3].

In the first paragraph we present the generalization of this method to higher-order ODE obtained in [3]. Next is considered systems in kinematical form. The results of this section are generalizations of similar results from [5]. As example is given a system which generalizes both the harmonic oscillator and spinning particle. By using the obtained first integrals the corresponding inverse problem is resolved.

**Acknowledgement** Special thanks are offered to the author's Ph.D. adviser, prof. Radu Miron, for introduction in higher order dynamics.

## 1 The adjoint variables approach

Let us consider a general system of  $k$ -order ODE, with  $k$  and  $n$  two natural numbers:

$$F^j(t, x, x_1, \dots, x_k) = 0, 1 \leq j \leq n \quad (1.1)$$

with the unknown function  $x = (x^i)_{1 \leq i \leq n}$  and:

$$x_\alpha^i = \frac{d^\alpha x^i}{dt^\alpha}, 1 \leq \alpha \leq k. \quad (1.2)$$

A *first integral* (or *conservation law* or *conserved quantity*) for the system (1.1) is a function  $\mathcal{F} = \mathcal{F}(t, x, x_1, \dots, x_{k-1})$  satisfying:

$$\frac{d\mathcal{F}}{dt} = 0, \text{ mod } (1.1) \quad (1.3)$$

where *mod*(1.1) means "on the solutions of (1.1)" and  $\frac{d}{dt}$  denotes the total differentiation with respect to  $t$ :  $\frac{d}{dt} = \frac{\partial}{\partial t} + x_1^i \frac{\partial}{\partial x^i} + \dots + x_k^i \frac{\partial}{\partial x_{k-1}^i}$ .

In [3] it is proved:

**Theorem** *If the functions  $\xi = (\xi^i)$ ,  $\mu = (\mu_j)$  of  $(t, x)$  satisfy the system:*

$$\frac{d}{dt} T_{(k)i} + (-1)^k \mu_j \frac{\partial F^j}{\partial x^i} = 0 \quad (1.4a)$$

$$\mu_j \sum_{\alpha=1}^{k+1} \frac{\partial F^j}{\partial x_{k-\alpha+1}^i} \frac{d^{k-\alpha+1} \xi^i}{dt^{k-\alpha+1}} = \frac{dK}{dt} \quad (1.4b)$$

on the solutions of (1.1) where  $K = K(t, x, \dots, x_{k-1})$  is a given function and:

$$T_{(\alpha)i} = \frac{d}{dt} T_{(\alpha-1)i} + (-1)^{\alpha+1} \mu_j \frac{\partial F^j}{\partial x_{k-\alpha+1}^i}, 1 \leq \alpha \leq k, T_{(0)i} = 0 \quad (1.4a')$$

then  $\mathcal{F}$  given by:

$$\mathcal{F} = \sum_{\alpha=1}^k (-1)^{\alpha+1} T_{(\alpha)i} \frac{d^{k-\alpha} \xi^i}{dt^{k-\alpha}} - K \quad (1.5)$$

is first integral for (1.1).

The relation (1.4b) is exactly:

$$\mu_j dF^j(x)(\xi) = 0 \quad (1.6)$$

where  $dF^j(x)$  means the Frechet derivative of  $F^j$  and then the equations (1.4a) + (1.4a') are:

$$(dF(x))_i^*(\mu) = 0 \quad (1.7)$$

where  $(dF(x))_i^*(\mu)$  is the adjoint of the linear operator  $dF(x)$ :

$$\begin{aligned} (-1)^k (dF(x))_i^*(\mu) &= \frac{d^k}{dt^k} \left( \frac{\partial F^j}{\partial x_k^i} \mu_j \right) - \frac{d^{k-1}}{dt^{k-1}} \left( \frac{\partial F^j}{\partial x_{k-1}^i} \mu_j \right) + \dots + \\ &+ (-1)^{k-1} \frac{d}{dt} \left( \frac{\partial F^j}{\partial x_1^i} \mu_j \right) + (-1)^k \frac{\partial F^j}{\partial x^i} \mu_j. \end{aligned} \quad (1.8)$$

Recall that the vectorial operator  $F = (F^j)$  is called *self-adjoint* if the Frechet derivative of  $F$  is self-adjoint and this property is the necessary and sufficient condition for the system  $F^j = 0$  to be yield by a variational principle i.e. there exists a Lagrangian  $L$  such that the given system is exactly the Euler-Lagrange system of  $L$ .

## 2 Systems in kinematical form

The system (1.1) is called *in kinematical form* if:

$$F^j = x_k^j - f^j(t, x, x_1, \dots, x_{k-1}). \quad (2.1)$$

Then, on solutions of (1.1) the total differentiation operator  $\frac{d}{dt}$  is reduced to the vector field  $\frac{D}{Dt} = \frac{\partial}{\partial t} + x_1^i \frac{\partial}{\partial x^i} + \dots + x_{k-1}^i \frac{\partial}{\partial x_{k-2}^i} + f^i \frac{\partial}{\partial x_{k-1}^i}$  and the theorem becomes:

**Proposition 1** *If  $\xi$  and  $\mu$  satisfy:*

$$\frac{D}{Dt} T_{(k)i} = (-1)^k \mu_j \frac{\partial f^j}{\partial x^i} \quad (2.2a)$$

$$\mu_j \left( \frac{D^k \xi^j}{Dt^k} - \sum_{\alpha=2}^{k+1} \frac{\partial f^j}{\partial x_{k-\alpha+1}^i} \frac{D^{k-\alpha+1} \xi^j}{Dt^{k-\alpha+1}} \right) = \frac{DK}{Dt} \quad (2.2b)$$

where:

(i)  $K = K(t, x, \dots, x_{k-1})$  is a given function

(ii)  $T_{(1)i} = \mu_i$  and:

$$T_{(\alpha)i} = \frac{D}{Dt} T_{(\alpha-1)i} + (-1)^\alpha \mu_j \frac{\partial f^j}{\partial x_{k-\alpha+1}^i}, \quad 2 \leq \alpha \leq k \quad (2.2a')$$

then  $\mathcal{F}$  given by (1.5) is first integral for (2.1).

Using the relations:

$$\left[ \frac{\partial}{\partial x_\alpha^i}, \frac{D}{Dt} \right] = \frac{\partial f^j}{\partial x_\alpha^i} \frac{\partial}{\partial x_{k-1}^i} + \frac{\partial}{\partial x_{\alpha-1}^i}, \quad 0 \leq \alpha \leq k-1 \quad (2.6)$$

it results:

**Proposition 2** If  $\mathcal{F}_1, \mathcal{F}_2$  are first integrals of (2.1) then:

$$\mu_i = \mathcal{F}_1 \frac{\partial \mathcal{F}_2}{\partial x_{k-1}^i} \quad (2.7)$$

satisfy (2.2a) + (2.2a').

**Proof** By induction we get:

$$T_{(\alpha)i} = (-1)^{\alpha+1} \mathcal{F}_1 \frac{\partial \mathcal{F}_2}{\partial x_{k-\alpha}^i}, \quad 0 \leq \alpha \leq k. \quad (2.8)$$

Indeed, for  $\alpha = 1$  we have (2.7) from  $T_{(1)i} = \mu_i$  (cf. proposition 1) and (2.7). Let us suppose that we have (2.8) for a fixed  $\alpha$ . Then, using (2.2a') :

$$T_{(\alpha+1)i} = (-1)^{\alpha+1} \mathcal{F}_1 \frac{D}{Dt} \frac{\partial \mathcal{F}_2}{\partial x_{k-\alpha}^i} + (-1)^{\alpha+1} \mu_j \frac{\partial f^j}{\partial x_{k-\alpha}^i} \stackrel{(2.6)}{=} (-1)^{\alpha+2} \mathcal{F}_1 \frac{\partial \mathcal{F}_2}{\partial x_{k-(\alpha+1)}^i}$$

what we require. Then  $T_{(k)i} = (-1)^{k+1} \mathcal{F}_1 \frac{\partial \mathcal{F}_2}{\partial x^i}$  which gives:

$$\frac{D}{Dt} T_{(k)i} = (-1)^{k+1} \mathcal{F}_1 \frac{D}{Dt} \frac{\partial \mathcal{F}_2}{\partial x^i} \stackrel{(2.6)}{=} (-1)^{k+2} \mathcal{F}_1 \frac{\partial f^j}{\partial x^i} \frac{\partial \mathcal{F}_2}{\partial x_{k-1}^j} = (-1)^k \mu_j \frac{\partial f^j}{\partial x^i}$$

i.e. the conclusion.  $\square$

Particularly by putting  $\mathcal{F}_1 = 1$  we obtain:

**Proposition 3** A first integral  $\Omega$  of (2.1) gives rise to a new one:

$$\mathcal{F}_\Omega = \sum_{\alpha=1}^k \frac{\partial \Omega}{\partial x_{k-\alpha}^i} \frac{D^{k-\alpha} \xi^i}{Dt^{k-\alpha}} - K \quad (2.9)$$

where  $\xi$  satisfy:

$$\frac{\partial \Omega}{\partial x_{k-1}^j} \left( \frac{D^k \xi^j}{Dt^k} - \sum_{\alpha=2}^{k+1} \frac{\partial f^j}{\partial x_{k-\alpha+1}^i} \frac{D^{k-\alpha+1} \xi^i}{Dt^{k-\alpha+1}} \right) = \frac{DK}{Dt}. \quad (2.10)$$

Let us consider the particular case when the functions ( $f^j$ ) does not depend of time, that is the considered system is *autonomous*(time-independent). Then a straightforward calculus gives that  $\xi^i = x_1^i$  satisfy (2.2b)(although we require only  $\xi = \xi(t, x)$  !) with  $K = 0$  and therefore:

**Proposition 4** If  $f^j = f^j(x, \dots, x_{k-1})$  and  $\mu$  satisfy (2.2a) + (2.2a') then:

$$\mathcal{F}_\mu = \mu_i f^i + \sum_{\alpha=2}^k (-1)^{\alpha+1} T_{(\alpha)i} x_{k-\alpha+1}^i \quad (2.11)$$

is a first integral of (2.1).

### 3 A generalization of harmonic oscillator and spinning particle

Let us consider the system of order  $k = 2m$ :

$$F^i = x_{2m}^i + x_{2m-2}^i = 0, 1 \leq i \leq 3 \quad (3.1)$$

which is a system in kinematical form with  $f^i = -x_{2m-2}^i$ . For  $m = 1$  this system describes the harmonic oscillator and for  $m = 2$  the spinning particle([4]). The associated system (2.2) is:

$$\frac{d^{2m} \mu_i}{dt^{2m}} + \frac{d^{2m-2} \mu_i}{dt^{2m-2}} = 0 \quad (3.2)$$

and we have two solutions:

$$\mu_i = \cos t \quad (3.3a)$$

$$\mu_i = \sin t \quad (3.3b)$$

with corresponding first integrals given by proposition 4:

$$\mathcal{F}_{\cos t}^i = x_{2m-1}^i \sin t - x_{2m-2}^i \cos t \quad (3.4a)$$

$$\mathcal{F}_{\sin t}^i = x_{2m-1}^i \cos t + x_{2m-2}^i \sin t. \quad (3.4b)$$

Let us remark that from proposition 3 we have  $\mathcal{F}_{\mathcal{F}_{\cos t}} = \mathcal{F}_{\cos t}$  and  $\mathcal{F}_{\mathcal{F}_{\sin t}} = \mathcal{F}_{\sin t}$ .

The system (3.1) is self-adjoint and then we are interested in finding the associated Lagrangian. Also, from (3.1) it results the first integral:

$$C^i = x_{2m-1}^i + x_{2m-3}^i \quad (3.5)$$

which, in order to eliminate the variable  $t$ , yields the first integral:

$$\Psi^i = (C^i)^2 - (\mathcal{F}_1^i)^2 - (\mathcal{F}_2^i)^2. \quad (3.6)$$

A straightforward computation gives:

$$\Psi^i = (x_{2m-3}^i)^2 - (x_{2m-2}^i)^2 + 2x_{2m-3}^i x_{2m-1}^i \quad (3.7)$$

and then we have the first integral:

$$\begin{aligned} H &= \frac{1}{2} (\Psi^1 + \Psi^2 + \Psi^3) = \\ &= \frac{1}{2} \sum_{i=1}^3 (x_{2m-3}^i)^2 - \frac{1}{2} \sum_{i=1}^3 (x_{2m-2}^i)^2 + \sum_{i=1}^3 x_{2m-3}^i x_{2m-1}^i \end{aligned} \quad (3.8)$$

which is exactly the Hamiltonian for (3.1). The associated Lagrangian is:

$$L = \frac{1}{2} \sum_{i=1}^3 (x_{m-1}^i)^2 - \frac{1}{2} \sum_{i=1}^3 (x_m^i)^2 \quad (3.9)$$

(that is (3.1) are the Euler-Lagrange equations for  $L$ ) a result very important from the point of view of Inverse Problem of Analytical Mechanics([9]). Thus we solve on this way the inverse problem for harmonic oscillator and spinning particle.

## References

- [1] Caviglia, G., *Composite variational principles, added variables and constants of motion*, Internat. J. Theoret. Phys., 25(1986), 139-146.
- [2] Caviglia, G., *Composite variational principles and the determination of conservation laws*, J. Math. Phys., 29(1988), 812-816.
- [3] Crâșmăreanu, M., *Adjoint variables for higher-order equations. Applications to spinning particle*, Libertas Mathematica, XIX(1999), 77-81.
- [4] de León, M., De Diego, D. M., *Symmetries and constants of motion for higher-order Lagrangian systems*, J. Math. Phys., 36(1995), 4138-4161.
- [5] Mimura, F., Nôno, T., *A method for deriving new conservation laws*, Bull. Kyushu Inst. of Tech., No. 42(1995), 1-17.
- [6] Mimura, F., Ikeda, T., Fujiwara, F., *A geometric derivation of new conservation laws*, Bull. Kyushu Inst. of Tech., No. 43(1996), 37-55.
- [7] Miron, R., *The Geometry of Higher-Order Lagrange Spaces (Applications to Mechanics and Physics)*, Fundamental Theories of Physics, no. 82, Kluwer Academic Publishers, 1997.
- [8] Miron, R., *The Geometry of Higher-Order Finsler Spaces*, Hadronic Press, 1998.
- [9] Santilli, R. M., *Foundations of Theoretical Mechanics I: The Inverse Problem in Newtonian Mechanics*, Texts and Monographs in Physics, Springer-Verlag, N.Y., 1978.
- [10] Sieniutycz, S., *Conservation Laws in Variational Thermo-Hydrodynamics*, Kluwer Academic Publishers, Mathematics and Its Applications, No. 279, 1994.

Faculty of Mathematics  
University "Al. I. Cuza"  
Iași, 6600, Romania  
E-mail: mcrasm@uaic.ro